	DESCRIPTION
	QTY.
	UNIT

	3/8" Carriage Bolts c/w Nuts
	250
	EACH

	3/8-1" Hex HD SS Bolts
	250
	EACH

	3/8 SS  Flat Washers
	1000
	EACH

	3/8  SS  Split Washers
	1000
	EACH

	7/16 Hex Hd SS Bolts
	250
	EACH

	7/16 SS Nuts
	500
	EACH

	7/16 SS  Flat Washers
	1000
	EACH

	7/16 SS  Split Washers
	1000
	EACH

	1-1/2" Split Hd Self tapping Screws
	4
	PK


[bookmark: _GoBack]
